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First Term Exam — 2017-2018
Class — VIII
Subject — MATHEMATICS
Time: 3 Hours Max. Marks: 80

General Instructions

. Section—A: Fill in the blanks-Questions 1 to 10 carry 1 mark.

. Section—B: Very Short answer type-Question 11to 18 carry 2 marks.
» Section—C: Short Answer Type-Questions 19 to 28 carry 3 marks.

. Section—D: Long Answer Type-Questions 29 to 34 carry 4 marks.

Section A
/ The sum of additive inverse and multiplicative inverse of 2 is
9./ By what rational should —15/56 be divided to get —5/7.

q./ If 5= 2 (2x-1), then value of x is .

(. If two consecutive angles of parallelogram are in the ratio 1 : 3 that the largest

f angleis
—Fhe sum of three consecutive numbers is 108, then the middle number is

_Z The ratio of the interior angles of a regular pentagon and a regular decagon
is

~7./ From a pack of 52 playing cards, a card is selected at random. The probability that
it is a black King is

8/. What % of 10kg is 250gm
9/ If the number 31 ;@98 is divisible by 11 and a is a digit, then the value of a is

L/ \0
N/If a person buys an article for Rs. 400 galmng f its C.P., find his gain percent

Section B

\V{/ Find 5 rational numbers between —5/6 and 5/ 8.

Find the number whose 5" part increased by 5 is equal to its 4™ part diminished by
p B
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The ratio of 2 sides of a parallelogram is 3:5 and its. penmeter 1s 480m Find the
sides of a parallelogram?
Construct a rectangle whose adjacent sides are 6cmand 5cm respectively.

U./ A shopkeeper purchased 300 bulbs for Rs.10each. However 20 bulbs were fused
and had to be thrown away. The remaining were sold at Rs.15 each. Find gain or
J/ loss %

Saumya had Rs.800 left after spending 80% of her money. How much did she have
in the beginning.

Find the value of A and B
AB
x BA

BCB

Section C
Find the compound interest on Rs. 10752 at 12% p.a for 1% years, interest being

)0/ payable half yearly?
. A box of 72 coloured balloons contains the following numbers of balloons of each
colour. Draw a pie chart to show this information.

colour - red yellow green blue
Number of balloons 12 24 20 16
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2/?3hanu bought two fans for Rs. 3605 each. She sold one of them at a profit of 15%
and the other at a loss of 9%. Find the selling price of each fan; and calculate

/verall profit or loss in the whole transaction.
. Using properties find:

3 e 5 5= 3
S

7 - -2-14 N

7'%6

. -3,
Represent on the same number line : e

6x+1 i

'\Z[ olve forx : al=22
3 6
/ Present ages of Anu and Raj are in the ratio 4 : 5. Eight years from now the ratio of

e/heir ages will be 5 : 6. Find the present ages?

Construct a quadrilateral ABCD in which AB = 6 cm, BC =5 cm, £ZA = 55, angle
ZB =100 and £D =90. '

ABCD is a rhombus. Find X and Y.

y 2 C

32
Y

\2}/ ABCD is a parallelogram. find value of a and b

SECTION D
29. The area of reétangle is 451—56 cm’. If one edge is 6% cm, find the other side and
perimeter? 2
_ a4
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\j{/Cmstruct a square each of whose diagonal measure 6.2 cm

. Quantity of rice sold by a shopkeeper on each day during the month of august is
given below:
124, 132, 154, 125, 131, 142, 148, 144, 126, 136, 151, 152, 129, 135, 153, 126,
133, 131, 125, 150, 139, 140, 145, 125, 134, 146, 153, 122, 135, 125, 139

(i)  Prepare a frequency distribution table for the above data.

a/ (i) Represent the information in the form of histogram.
2

I have a total cash of Rs. 30000 with me of denomination Rs. 10. Rs. 20 and
Rs. 50. The number of notes of Rs. 20 is three times the number of notes of Rs. 50.
~The total numbers of notes is 1600. How many notes of each denominations are
with me?

3. Fatima borrows Rs. 12,500 at 15% p.a. for 2 years at simple interest and Radhika
orrows the same amount for the same time period at 12% p.a compounded
annually. Who pays more interest and by how much?

In the figure, the bisector of A and B meet at a point P. If ZC = 96 and

*£D =30, find the measure.of APB. Find exterior angles at point C and D.

D
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